Math 150 Name: K £>{

Chapter R Exam
Fall 2015
LSolve each problem using the methods demonstrated in class; be sure to answer word problems in a phrase or sentence.

1) Use a graphing calculator to graph in an appropriate viewing window: y =1++/2x— 23

State the domain in interval notation: Z:_z % C?O) > r
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2) Use the function f(x) = x>+ 8Xx to find the following:

0 f(3) = (5)7'4,8(5) = 9+ 24 =I35
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3) Given the graph of the function.

a) State the domain: F 3) 5’]
b) State the range: E‘_ 2 )j
~)

c) Find the x- value(s) for which f(x) = 0

X1 %3

4) A shoe company will make a new type of shoe. The fixed cost for the production will be $24,000. The
variable cost will be $32 per pair of shoes. The shoes will sell for $108 for each pair.

Find the co i "hﬁ\\’"””: : o
a) Find the cost function C(x) LQ’CXB - 30/2 A _\' Qq';ooa
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b) Find the revenue function R(x) Eé,C%):\DéQ{ }
c) Find the profit function P(x) P Cx) - }ng — (39)( + 2“}» ODO)
(PO = Tex - 2y, 000)

d) What profit or loss will the company realize if the sale of the shoes is 400_pairs? ‘
P (4t0) = 7k (400)—24,000 | Probir of 3 400]
= 400

e) How many pairs of shoes will have to be sold for the company to break even on this new line of shoes?

2\ =hoes
mus+ be sold




5) Solve each equation. Be sure to give exact answers.

0
X+ X -3=0 4 Hiule e lox 1l =0

= -8 {REYO)
X= -8 Jf(%(:f)@?(s) (x — §)(x+2)=0

X = -3+ 76 [%=8,%=3)

2
A= B2 _ -y
~ i~ 4T

6) Given the supply and demand functions, determine the equilibrium point. Graph both functions in an
appropriate window, label the axes, and indicate the equilibrium point.
Demand: g =830~-20x and Supply: g =220+ 10x where x is the price in dollars.

o : |equilbon ot
qvﬂ'**’j’”l | (9023, H13.33)
| price $26.33
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7) Exponents:

Rewrite the following using radical notation:
1

a) x7 ; b) m* Q) y3
— :
VX \'m —

Rewrite the following with rational exponents:
A 1

\ ;
ah = X e)«/x—3:_)—(_%";xg

8) Lines:
a) Find the equation of the line that contains the points (-3, 5) and (-1,-3)

M= -3-5 -3 —y = m (x=x)
1=z - a = 4 %,35:-—%()(1—5)
Y-5=—tx-12
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b) Graph the line by determining the slope and y-intercept: 2x+3y +9=0
ZX-3
y=3




9) Graph the piece-wise function:

1., '
F(x) = §x+4 for x<2

5-x for x>2
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10) Find the average rate of change from t= 6 to t = 12 and interpret:

(b, 20,00) _ Qo000 =10, U
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